
For ax2 + bx + c = 0, the value of x is given by 
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or 

 

If D>0, there are two solutions. 

If D=0, there is only one solution. 

If D<0, there are no real solutions. 

7. 025102  xx  

 
5

2

10

01001002514102








x

D

 

8. 01025 2  xx  

solutionrealnoareThere

D 1962004105422 
 

 9. 2073 2  xx  

02073 2  xx  

3

5

6

177

4
6

177

2892404920347

2

1

2













x

x

D

 

 

http://www.AssignmentExpert.com

http://www.AssignmentExpert.com

